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Note:	 The question paper is divided into three sections. A, B 

and C. Write answer as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Type Questions)

Note:	 Answer all questions as per the nature of the question 

delimit your answer in one word, one sentence or maximum 

upto 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Give two differences between reserve and fund.

		  g§M¶ d H$mof ‘| Xmo AÝVa {bImo&

	 (ii)	 Give formula of M-M's model of dividend.

		  E‘-E‘ Ho$ bm^m§e à{V‘mZ H$m gyÌ Xr{O¶o&

	 (iii)	 What is line of credit?

		  gmI gr‘m aoIm ³¶m h¢?

	 (iv)	 What do you mean by annuity?

		  dm{f©H$s H$m ³¶m Ame¶ h¡?

	 (v)	 What is 'Commercial Paper'?

		  "dm{UÁ¶H$ nÌ' ³¶m h¢?

	 (vi)	 What is meant by Capital Structure?

		  ny§Or g§aMZm H$m ³¶m Ame¶ h¢?

	 (vii)	What is meant by Financial Feasibility?

		  {dÎmr¶ gmÜ¶Vm ³¶m h¢?

	 (viii)	Define Cash Budget.

		  amoH$S> ~OQ> H$mo n[a^m{fV H$s{O¶o&

	 Section - B	 4 × 8 = 32

(Short Answer Type Questions)

Note:	 Answer any four questions. Each answer should not 

exceed 200 words. Each question carries 08 marks.
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(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýhr Mma àíZm| Ho$ CÎma Xr{O¶o& Amn AnZo CÎma H$mo A{YH$V‘  
200 eãXm| ‘| n[agr{‘V H$s{O¶o& àË¶oH$ àíZ 08 A§H$m| H$m h¡&

2)	 Calculate economic order quantity from the following:

	 {ZåZm§{H$V go Am{W©H$ AmXoe ‘mÌ H$s JUZm H$amo&
	 Annual usage dm{f©H$ Cn¶moJ	 10000 Units

	 Fixed cost per order  à{V AmXoe pñWabmJV	̀  750

	 Purchase Price H«$¶ ‘yë¶	 ` 200 à{V BH$mB©
	 Carrying cost aIZo H$s bmJV	 20% inventory value

3)	 Calculate operating leverage from the following:

	 {ZåZm§{H$V go n[aMmbZ CÎmmobH$ kmZ H$amo&
	 Sales ({dH«$¶)	 ` 50000

	 Variable costs (n[adV©Zerb bmJV)	 60%

	 Fixed Cost (ñWm¶r bmJV)	 ` 12000

4)	 Calculate pay back period and post pay back profitability of 

following proposals:

	 {ZåZm§{H$V n[a¶moOZmAm| H$s AXm¶Jr Ad{Y d AXm¶Jr Ad{Y níMmV² 
bm^Xm¶H$Vm kmV H$amo&

	 	 	 Project X	       Y

	 Cost (Rs.)	 100000	 140000

	 Life (Years)	 10	 12

	 Estimated Scrap (Rs.)	 10000	 20000

	 Annual profit after Tax (Rs.)	 10000	 12000
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5)	 Calculate weighted average cost of capital.

	 n§wOr H$s ^m[aV Am¡gV bmJV H$s JUZm H$amo&

Sources of Funds Amount (`) After tax cost of capital

Equity share capital 10,00,000 .11

Preference share capital 2,50,000 .08

Retained Earnings 5,00,000 .11

9% Debentures 7,50,000 .40

6)	 Explain the limitations of financial management.

	 {dÎmr¶ à~ÝY H$s gr‘mE± g‘PmAmo&

7)	 Explain adjustment methods for risk and uncertainty.

	 Omo{I‘ d A{ZpíMVVm Ho$ {bE g‘m¶moOZ H$s {d{Y¶m§ g‘PmB¶o&

8)	 Explain MM Model with regard to dividend distribution.

	 bm^m§e {dVaU Ho$ E‘.E‘. ‘m°S>b (à{V‘mZ) H$mo g‘PmB¶o&

9)	 Explain operating cycle technique of forecasting working 

capital requirements.

	 H$m¶©erb ny§Or H$s Amdí¶H$Vm Ho$ nydm©Zw‘mZ H$s n[aMmbZ MH«$ VH$ZrH$ 
g‘PmAmo&

	 Section - C	 2 × 16 = 32
(Long Answer Type Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.
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(IÊS> - g)
(XrK© CÎma dmbo àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 

eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 
10)	 Prepare monthly Cash Budget for April to June from the 

following informations.

	 {ZåZm§{H$V gyMZmAm| go Aàob go OyZ ‘mh ‘m{gH$ amoH$S> ~OQ> V¡¶ma 
H$s{O¶o&

Month Sales (`) Purchases (`) Wages (`)
February 180000 124800 12000
March 192000 144000 14000
April 108000 243000 11000
May 174000 246000 10000
June 126000 268000 15000

	 (i)	 50% of the credit sales are realised in the month following 

sales and remaining 50% sales in the second month 

following Creditors are paid in the following month of 

purchases.

		  CYma {~H«$s H$m 50% à{VeV {~H«$s Ho$ ~mX dmbo ‘mh ‘| dgyb {H$¶m 
OmVm h¡ VWm eof 50% {~H«$s Ho$ Xÿgao dmbo ‘mh ‘|& boZXmam| H$mo H«$¶ 
Ho$ ~mXdmbo ‘mh ‘| MwH$m¶m OmVm h¢&

	 (ii)	 Cash in hand on 1st April estimated ` 25000.

		  1 Aàob H$mo AZw‘m{ZV amoH$S> eof ` 25000 h¢&

	 (iii)	 Loan of ̀  50000 in May and ̀  120000 in June will be taken.

		  ‘B© ‘| ` 50000 d OyZ ‘| ` 120000 F$U {b¶m Om¶oJm&
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11)	 Explain 'Present Value Method' and 'Internal Rate of Return' 

method.

	 dV©‘mZ ‘yë¶ {d{Y d AmÝV[aH$ àË¶m¶ Xa {d{Y g‘PmAmo&

12)	 What is meant by 'Capital structure'? Explain the theories 

capital structure in brief.

	 ny§Or g§aMZm go ³¶m Ame¶ h¢? ny§Or g§aMZm Ho$ {gÕmÝVm| H$mo g§jon ‘| 
g‘PmB¶o&

13)	 Explain concept of Dividend decision. 

	 bm^m§e {ZU©¶Z H$s {dMmaYmam g‘PmB¶o&


